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CSAT PAPER – II (Permutation, Combination & Probability; English Comprehension) 

 

1. A candidate is required to answer 6 out of 10 questions which are divided into two 

groups each containing 5 questions. He is not permitted to attempt more than 4 from 

each group. In how many ways he can make up the choice? 

 (a) 210 

 (b) 200 

 (c) 190 

 (d) 42 

 

Solution: B 

 

Number of ways of choosing 6 from 10 = 10C6 = 210. 

Number of ways of attempting more than 4 from a group, = 2*5C5 *5C1=10. ⇒Required 

number of ways = 210 −10= 200 

 

2. From a pack of 52 cards, 1 card is chosen at random. What is the probability of the card 

being diamond or queen? 

 (a) 2/7 

 (b) 6/15 

 (c) 4/13 

 (d) 1/8 

 

Solution: C 

 

In 52 cards, there are 13 diamond cards and 4 queens. 

1 card is chosen at random: 

For 1 diamond card, probability = 13/52 

For 1 queen, probability = 4/52 

For cards which are both diamond and queen, probability = 1/52 

So required probability = 13/52 + 4/52 – 1/52 = 16/52 = 4/13 
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3. Four persons are chosen at random from a group of 3 men, 5 women and 4 children. 

What is the probability of exactly two of them being men? 

 (a) 10/60 

 (b) 12/55 

 (c) 25/60 

 (d) 13/60 

 

Solution: B 

 

Total sample size of selecting 4 people out of 12 people (3 men, 5 women and 4 children) = 

12c4= 495. 

Various possibilities of having exactly two men in the group of four are: 

(2 men AND 2 women) OR (2 men AND 2 children) OR (2 men AND 1 woman and 1 child) 

Thus, it can be written in formula:  (3c2 * 5c2) + (3c2 * 4c2) + (3c2 *5c1 *4c1) 

(3*10) + (3 * 6) + (3 *5*4) = 30+18+60 = 108. 

Therefore, probability of exactly two of them being men is 108/495 = 12/55 

 

4. A bag contains five white and four red balls. Two balls are picked at random from the 

bag. What is the probability that they both are different color? 

 (a) 4/9 

 (b) 2/3 

 (c) 5/9 

 (d) 2/9 

 

Solution: C 

 

Two balls can be picked from nine balls in ⁹C₂ ways. 

We select one white ball and one red ball from five white balls and four red balls. This can be 

done ⁵C₁ * ⁴C₁ ways. 

The required probability = (5 * 4)/⁹C₂ = 20/36 = 5/9 
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Directions for the following (one) item: 

Read the following passage and answer the item that follow. Your answer to this item should 

be based on the passage only. 

Passage - 1 

An increase in the median income of the middle class does not cause average levels of 

education for the middle class to go up. If they did, then countries with the highest median 

income of the middle class would also have the highest levels of education for this class. In 

fact, when the median income of the middle class is made suitably comparable for different 

countries (accounting for inflation, currency fluctuations and purchasing power parity), there 

is no such co-relation. 

 

5. Which of the following can be correctly inferred from the statements above? 

(a) Countries with the highest median income of the middle class do not have the 

highest levels of education for the middle class. 

(b) It is difficult to reliably compare the education and income levels of one country 

with another. 

(c) A reduction in the median income of the middle class of the country will not 

necessarily lower the average level of education for the said class. 

(d) Countries with low levels of education for the middle class have comparatively 

higher levels of median income for the middle class. 

 

Correct Answer: C 

 

In this case, we are told that there is no reliable relationship between the median income 

and average level of education for the middle class and the increase/decrease in income 

levels does not have an impact on education levels. This sentiment is highlighted by option 

3. 

 

6. Find the number of ways of arranging the letters of the word “MATERIAL” such that 

all the vowels in the word are to come together? 

 (a) 2400 

 (b) 1440 

 (c) 2100 

 (d) 180 
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Solution: B 

 

In the word, “MATERIAL” there is three vowels A, I, E. 

If all the vowels are together, the arrangement is MTRL’AAEI’. 

Consider AAEI as one unit. The arrangement is as follows. 

M T R L A A E I 

The above 5 items can be arranged in 5! ways and AAEI can be arranged among themselves 

in 4!/2! ways. 

Number of required ways of arranging the above letters = 5! * 4!/2! 

= (120 * 24)/2 = 1440 ways. 

 

7. How many 4 digit even number can formed by using the digits 1,3,7 and 8 only once ? 

 (a) 24 

 (b) 12 

 (c) 6 

 (d) 8 

 

Solution: C 

 

To be an even number, the units digit has to even number, in this case only 8 should come in 

the unit’s place. 

Thus, remaining places can be filled by remaining three numbers in 3! Ways or 6 ways. 

 

8. The probability that a bullet fired from a point will strike the target is 3/4. Four such 

bullets are fired simultaneously towards the target from that very point. What is the 

probability that the target will strike at least once? 

 (a) 255/256 

 (b) 243/256 

 (c) 81/256 

 (d) 27/64 

 

Solution: A 
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Probability of a bullet not striking the target = 1/4 

Probability that none of the four bullets will strike the target 

= (1/4)4 

= (1/256) 

 

Probability that the target will strike at least once: 

= 1- (1/256) 

= (255/256) 

 

9. The probability that a student will pass in Physics is 3/5, and the probability that he will 

pass in Chemistry is 1/3. If the probability that he will pass in both Physics and Chemistry 

is 1/8, what is the probability that he will pass in at least one subject? 

 (a) 79/80 

 (b) 27/35 

 (c) 6/13 

 (d) 79/120 

 

Solution: D 

 

Probability that a student will pass in Physics = 3/5 

Therefore, Probability that a student will fail in Physics = 1 – (3/5) = 2/5 

Probability that a student will pass in Chemistry = 1/3 

Therefore, Probability that a student will fail in Chemistry = 1 – (1/3) = 2/3 

It is given to find the probability that he will pass in at least one subject. Hence, there will be 

3 cases: 

The student will pass in Physics and fail in Chemistry OR 

The student will pass in Chemistry and fail in Physics OR 

The student will pass in both Physics and Chemistry 

Probability that a student will pass in Physics and failed in Chemistry = P(P) =(3/5) * (2/3) = 

2/5 (since, AND = Multiplication) 

Probability that a student will pass in Chemistry and failed in Physics = P(C) 

= (1/3) * (2/5) = 2/15 
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Probability that a student will pass in both Physics and Chemistry = P(P ∩ C) 

= 1/8 

Required Probability = P(P) + P(C) + P(P ∩ C) (Since, OR = Addition) 

= (2/5) + (2/15) + (1/8) 

= (48 + 16 + 15)/120 

= 79/120 

 

Directions for the following (one) item: 

Read the following passage and answer the item that follow. Your answer to this item should 

be based on the passage only. 

Passage - 3 

We live in digital times. The digital is not just something we use strategically and 

specifically to do a few tasks. Our very perception of who we are, how we connect to the world 

around us, and the ways in which we define our domains of life, labor and language are hugely 

structured by the digital technologies. The digital is everywhere and; like air, invisible. We live 

within digital systems, we live with intimate gadgets, we interact through digital media, and 

the very presence and imagination of the digital has dramatically restructured our lives. The 

digital, far from being a tool, is a condition and context that defines the shapes and boundaries 

of our understanding of the self, the society, and the structure of governance. 

 

10. Which among the following is the most logical and essential message conveyed by 

the above passage? 

(a) All problems of governance can be solved by using digital technologies. 

(b) Speaking of digital technologies is speaking of our life and living. 

(c) Our creativity and imagination cannot be expressed without digital media. 

(d) Use of digital systems is imperative for the existence of mankind in future. 

 

Correct Answer: D 

 

A is the extreme statement and all the problems cannot be solved by using digital 

technologies. 

Digital technologies are just part of our life and living and there are other ways to 

express our creativity and imagination without digital media. 
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11. A number 21332145x is divisible by 8. What can be the minimum value of x? 

 (a) 6 

 (b) 4 

 (c) 5 

 (d) 2 

 

Solution: A 

 

For a number to be divisible by 8; its last 3 digits should be divisible by 8 

So, (45x) is divisible by 8 

Thus, x = 6 is the correct answer 

 

12. How many 7 digit numbers can be formed using the digits 1, 2, 0, 2, 4, 2, 4? 

 (a) 240 

 (b) 420 

 (c) 360 

 (d) 540 

 

Solution: C 

 

There are 7 digits 1, 2, 0, 2, 4, 2, 4 in which 2 occurs 3 times, 4 occurs 2 times. 

Number of 7 digit numbers = 7!/(3!×2!) = 420 

But out of these 420 numbers, there are some numbers which begin with ‘0’ and they are 

not 7-digit numbers. The number of such numbers beginning with ‘0’. 

=6!/(3!×2!) = 60 

Hence the required number of 7 digits numbers = 420 – 60 = 360 

 

13. In a box, there are 5 black balls, 3 white balls and 4 red balls. In how many ways can 2 

black balls, 2 white balls and 2 red balls can be chosen? 

 (a) 80 

 (b) 90 
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 (c) 120 

 (d) 180 

 

Solution: D 

 

Number of ways of choosing 2 black balls from 5 black balls in 5C2 ways. 

Number of ways of choosing 2 white balls from 3 white balls in 3C2 ways. 

Number of ways of choosing 2 red balls from 4 red balls in 4C2 ways. 

By the Counting Principle, 2 black balls, 2 white balls, and 2 red balls can be chosen in 10 x 3 

x 6 =180 ways. 

 

14. A bag contains 6 white and 4 black balls .2 balls are drawn at random. Find the probability 

that they are of same colour? 

 (a) 5/18 

 (b) 7/15 

 (c) 7/18 

 (d) 11/20 

 

Solution: B 

 

The number of ways of drawing 2 balls out of (6+4) = 10C2 

= (10 * 9)/(2 * 1) = 45 

 

Event of getting both balls of same colour = no of ways (2 balls out of six) or (2 balls out of 4) 

= 6C2 + 4C2 

= (6 * 5)/(2*1) + (4*3)/(2*1) 

= 15 + 6 = 21 

Probability of getting 2 same colour balls = 21/45 

= 7/15 
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Directions for the following (one) item: 

Read the following passage and answer the item that follow. Your answer to this item should 

be based on the passage only. 

Passage - 3 

We are witnessing a dangerous dwindling of biodiversity in our food supply. The green 

revolution is a mixed blessing. Over time farmers have come to rely heavily on broadly 

adapted, high yield crops to the exclusion of varieties adapted to the local conditions. Mono-

cropping vast fields with the same genetically uniform seeds helps boost yield and meet 

immediate hunger needs. Yet high-yield varieties are also genetically weaker crops that require 

expensive chemical fertilizers and toxic pesticides. In our focus on increasing the amount of 

food we produce today, we have accidentally put ourselves at risk for food shortages in future. 

 

15. Which among the following is the most logical and critical inference that can be made 

from the above passage? 

(a) In our agricultural practices, we have become heavily dependent on expensive 

chemical fertilizers and toxic pesticides only due to green revolution. 

(b) Mono-cropping vast fields with high-yield varieties is possible due to green 

revolution 

(c) Mono-cropping with high-yield varieties is the only way to ensure food security to 

millions 

(d) Green revolution can pose a threat to biodiversity in food supply and food security 

in the long run. 

 

Correct Answer: D 

 

Though green revolution helped in the past at that situation, on long run it made 

dependent on mono-cropping there by posing threat to biodiversity. 

Avoid extreme statements as in option C and A. 

 

16. A boy has six trousers and nine shirts. In how many different ways can he select a trouser 

and a shirt? 

 (a) 48 

 (b) 54 

 (c) 32 

 (d) 108 
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Solution: B 

 

The boy can select one trouser in 6 ways. 

The boy can select one shirt in 9 ways. 

The number of ways in which he can select one trouser and one shirt is = 6 * 9 = 54 ways. 

 

17. The number of arrangements that can be made with the letters of the word MEADOWS 

so that the vowels occupy the even places? 

 (a) 52 

 (b) 840 

 (c) 72 

 (d) 144 

 

Solution: D 

 

The word MEADOWS has 7 letters of which 3 are vowels. 

-V-V-V- 

As the vowels have to occupy even places, they can be arranged in the 3 even places in 3! i.e., 

6 ways. While the consonants can be arranged among themselves in the remaining 4 places in 

4! i.e., 24 ways. 

Hence the total ways are 24 * 6 = 144. 

 

18. If two dice are thrown together, what is the probability of getting an even number on 

one die and an odd number on the other dice? 

 (a) 1/2 

 (b) 1/3 

 (c) 17/36 

 (d) 1/6 

 

Solution: A 
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The probability of getting an even number on one die and an odd number on the other dice 

is (Even number in first dice AND odd number in second dice) OR (Odd number in first dice 

AND even number in second dice) 

= (1/2 * 1/2) + (1/2 * 1/2) = ¼ + ¼ = 2/4  = ½ 

 

19. If a card is drawn from a pack of cards, What is the probability of drawing a spade or a 

king? 

 (a) 25/52 

 (b) 4/13 

 (c) 7/13 

 (d) 11/26 

 

Solution: B 

 

Probability of getting spade = ¼ 

Probability of getting a King card = 1/13 

Probability of getting King spade = 1/52 

The probability of drawing a spade or a king = ¼ + 1/13 – 1/52 

= (13+4-1)/52 

= 16/52 

= 4/13 

 

Directions for the following (one) item: 

Read the following passage and answer the item that follow. Your answer to this item should 

be based on the passage only. 

Passage - 4 

People are always less happy to accept scientific data they feel contradicts their 

preconceived beliefs. No surprise here; no human likes to be wrong. But science isn’t 

supposed to care about preconceived notions. Science, at least good science, tells us about 

the world as it is, and not as some wish it to be. Sometimes what science finds is consistent 

with a particular religion’s wishes. But usually it is not. 
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20. What can be inferred about good science? Select from the given options. 

(a) A good science is well received by the educated people. 

(b) A good science is based on concrete results obtained through testing the 

hypothesis. 

(c) A good science and religion are same. 

(d) A good science will always prove the general populace wrong. 

 

Correct Answer: B 

 

Answer to the above question is option B and this can be drawn on the basis of the line “But 

science isn’t supposed to care about preconceived notions. Science, at least good 

science, tells us about the world as it is and not as some wish it to be”. 

Option A is wrong as there is no relevant point in the passage to draw this conclusion. 

Option C is too farfetched and it may not be always true for science and religion to be same. 

Option D is wrong as there is no fact in the passage to support this option. 

 

21. Out of 3 girls and 6 boys a group of three members is to be formed in such a way that 

at least one member is a girl. In how many different ways can it be done? 

 (a) 84 

 (b) 60 

 (c) 54 

 (d) 64 

 

Solution: D 

 

Total number of possible ways = 9C3 = 84 ways 

Required at least one girl in the group of three = total possible ways – ways in which none is 

girl 

None of the members in the group is girl = 6C3 = 20 

Therefore, number of ways that at least one girl member = 84-20 = 64 ways 
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22. A five digit number is formed with the digits 1,2,3, 4 and 5 without repetition. Find the 

probability that the number is divisible by 5? 

 (a) 1/4 

 (b) 1/5 

 (c) 1/3 

 (d) 2/5 

 

Solution: B 

 

5 digit number possible = 5! = 120 

To be divisible by 5, the last digit should be 5. 

By fixing 5 at unit digit  we get 4 ! numbers = 24 

Therefore, probability = 24/120 = 1/5 

 

23. If a number is chosen at random from the set {1, 2, 3, …., 50}, then what is the probability 

that the chosen number is a perfect square? 

 (a) 4/24 

 (b) 2/25 

 (c) 8/50 

 (d) 7/50 

 

Solution: D 

 

Sample size S = 50 

Number of perfect square between 1 and 50 = 7 

Probability = 7/50 

 

24. In how many different ways can four books A, B, C and D be arranged one above another 

in a vertical order such that the books A and B are never in continuous position? 

 (a) 10 

 (b) 12 
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 (c) 9 

 (d) 14 

 

Solution: B 

 

The number of arrangement in which A and B are not together 

= Total number of arrangement – Number of arrangement in which A and B are together 

= 4! – 3! x 2! = 24 – 12 = 12 

 

Directions for the following (one) item: 

Read the following passage and answer the item that follow. Your answer to this item should 

be based on the passage only. 

Passage - 5 

In the last decade, the banking sector has been restructured with a high degree of 

automation and products that mainly serve middle-class and upper middle-class society. 

Today there is need for a new agenda for the banking and non-banking financial services that 

does not exclude the common man. 

 

25. Which one of the following is the message that is essentially implied in the above 

passage? 

(a) Need for more automation and more products of bank. 

(b) Need for a radical restructuring of our entire public finance system. 

(c) Need to integrate banking and non-banking institutions. 

(d) Need to promote financial inclusion. 

 

Correct Answer: D 

 

The main idea of the passage is to promote the banking and non-banking financial services 

that do not exclude the common man. 

Other options are just means to reach financial Inclusion. 
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Simple Interest & Compound Interest; English Comprehension 

 

26. The simple interest on a sum of money for 3 years is Rs. 360, and the compound interest 

on the same sum at the same rate for 2 years is Rs. 270. What is the rate percent per 

annum? 

 (a) 25% 

 (b) 50% 

 (c) 60% 

 (d) 80% 

 

Solution: A 

 

SI for 1st year=360/3=Rs. 120=CI for 1st year. 

SI for 2 years = Rs. 240. 

Now, CI for 2 years= 270 

So, Interest on SI for 1 year (i.e. Rs. 120)= 270 – 240 =Rs. 30 

Hence, the required rate = (30/120) × 100= 25% 

 

27. A person has Rs. 3000. He invested 60 percent at 10 percent interest rate and rest amount 

at 15 percent. What is the total interest received at the end of year? 

 (a) Rs. 180 

 (b) Rs. 360 

 (c) Rs. 90 

 (d) Rs. 270 

 

Solution:  B 

 

Interest received from first investment = [(1800×10×1)/100] 

Interest received from second investment = [(1200×15×1)/100] 

Total interest = Rs. 360 
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28. If an amount doubles itself in 5 years, then in how many years will it be 8 times of the 

original amount, if it grows with an interest rate compounded annually? 

 (a) 20 years 

 (b) 15 years 

 (c) 25 years 

 (d) 12 years 

 

Solution: B 

 

Let the initial amount be x. 

In 5 years the amount gets doubled, i.e. total amount=2x 

In the next 5 years, i.e 10 years amount gets doubled again, i.e. total amount=4x 

Similarly, in the next 5 years, i.e 15 years the total amount= 2 × 4x = 8x. 

 

29. Rs.2500 is divided into two parts such that if one part to be charged at 5% per annum 

simple interest and the other at 6% per annum. If the annual income from interest alone 

is Rs.140. How much amount was lent at 5% per annum interest? 

 (a) 800 

 (b) 2000 

 (c) 1200 

 (d) 1000 

 

Solution: D 

 

Simple interest = Principal * Time * Rate of Interest /100 

Let Rs x was given at 5 % interest, then 

Total income from interest = x*1*5/100 + (2500-x) * 1 * 6/100 = 140 

Or 5x/100 + (15000 – 6x)/100 = 140 

Or 15000 – x = 14000 

Or x= 1000 
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Directions for the following (one) item: 

Read the following passage and answer the item that follow. Your answer to this item should 

be based on the passage only. 

Passage - 6 

Safe and sustainable sanitation in slums has immeasurable benefits to women and girls 

in terms of their health, safety, privacy and dimity. However, women do not feature in most of 

the schemes and policies on urban sanitation. The fact that even now the manual scavenging 

exists, ones to show that not enough has been done to promote pour-flush toilets and 

discontinue the use of dry latrines. A more sustained and rigorous campaign needs to be 

launched towards the right to sanitation on a very large scale. This should primarily focus on 

the abolition of manual scavenging. 

 

30. With reference to the above passage, consider the following statements: 

1. Urban sanitation problems can be fully solved by the abolition of manual 

scavenging only. 

2. There is a need to promote greater awareness on safe sanitation practices in urban 

areas. 

Which of the statements given above is/are correct? 

 (a) 1 only. 

 (b) 2 only. 

 (c) Both 1 and 2. 

 (d) Neither 1 nor 2. 

 

Correct Answer: B 

 

Manual scavenging is not the only problem of urban sanitation so 1 is wrong. 

Awareness creation is more needed for proper sanitation so 2 is correct. 

 

31. Sonali deposited Rs.6000 which amounted to Rs.6900 after 3 years at simple interest. 

Had the interest been 3 % more per annum. She would get how much as interest amount 

after the end of three years? 

 (a) 2200 

 (b) 1800 

 (c) 1200 

 (d) 1440 
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Solution: D 

 

Total interest after 3 years Sonali received = Rs 900 

Therefore, interest per year = 300 

Therefore, rate of interest = 5 % 

Now, if interest 3 % more, then rate of interest = 8 % 

Therefore, simple interest earned after three years = (PTR/100) 

Where P = Principal, T = Time period, R = Rate of interest 

Thus, interest amount = (6000 * 3 * 8)/100 

= 60 * 3 * 8 = 180 * 8 = Rs 1440 

 

32. Sharath borrowed Rs. 5 lakh from a bank to purchase one car. If the rate of interest be 

6% per annum compounded annually, what payment he will have to make after 2 years 

6 months? 

 (a) 575000 

 (b) 600000 

 (c) 578650 

 (d) 540000 

 

Solution: C 

 

CI for 2 years 6 months at the rate of 6, applying the net% effect for first 2 years 

= 6 + 6 + (6 * 6)/100 = 12.36% 

Rate of interest for 6 months = (6/12) * 6 = 3% 

For next 6 months = 12.36 + 3 + (12.36 * 3) /100 = 15.36 + 0.37% = 15.73% 

Here, we can see that in 2 years 6 months the given compound rate of interest is approximate 

15.73%. 

Now, 115.73% of 500000 = (115.73 * 500000)/100 = 578650 
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33. Ramya took a loan of Rs. 2400 with simple interest for as many years as the rate of 

interest. If she paid Rs. 864 as interest at the end of the loan period, what was the rate 

of interest? 

 (a) 5 % 

 (b) 8 % 

 (c) 6 % 

 (d) 12 % 

 

Solution: C 

 

Let the rate of interest = R% and time period = R years. 

Simple Interest, SI = PTR/100 

Where P = Principal, T = Time period, R = Rate of interest 

Then, (2400 x R x R / 100 ) = 864 

24 R² = 864  Or  R² = 864/24 = 36  Or  R =6 

 

34. A sum of money deposited at certain rate of Compound Interest amounts to Rs.5400 in 

2 years and to Rs.5940 in 3 years. Find the rate percent? 

 (a) 10 % 

 (b) 15 % 

 (c) 20 % 

 (d) 8 % 

 

Solution: A 

 

As there is difference of time period is one year, we can calculate the compound interest by 

calculating additional amount incurred in last one year. 

The deposit amount after 2 years = Rs.5400 

The deposit amount after 3 years = Rs. 5940 

The difference amount is Rs 540 

Therefore, rate of compound interest = 540/5400 * 100 = 10 % 
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Directions for the following (one) item: 

Read the following passage and answer the item that follow. Your answer to this item should 

be based on the passage only. 

Passage - 7 

Governments need to be generous in supporting international humanitarian agencies, 

whether with food or funds. Stepping-up supply of food to countries worst-hit by the hunger 

crisis is necessary. While this will help ease the symptoms of the crisis, it will not address its 

underlying causes. The latter is necessary to address the problem of food insecurity in the 

world.  Humanitarian food aid is important but simultaneously, we need to put in place 

medium and long-term strategies to address conflict and climate shocks. 

 

35. Which of the following is the most logical, critical and rational inference that can be 

drawn from the above passage? 

(a) Cycle of hunger can be broken only by improving food production and distribution 

(b) The presence of hunger remains a global shame 

(c) Climate change, extreme weather events and global conflicts remain the primary 

cause of hunger 

(d) Humanitarian aid is a necessary but not a sufficient condition for addressing global 

hunger 

 

Correct Answer: A 

 

The passage states that humanitarian aid is important but other steps are also required 

for ending hunger. D appears correct but A is the more logical and critical choice because 

the passage harps on the importance of medium and long term steps required for 

addressing hunger which is captured by A. Hence A is the correct answer. 

 

36. Ramya borrowed Rs. 1075 from her friend at 7% per annum. She returned the amount 

after 7 years. How much amount did she pay? 

 (a) 1601.75 

 (b) 1725.25 

 (c) 1700 

 (d) 1821.5 

 

Solution: A 
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Principal Amount , P = Rs. 1075, 

Rate of interest, R = 7%, 

Time period, T=7 years 

Simple interest, SI = PTR/100 

SI = (1075 x 7 x 7)/100 

SI = 526.75 

Amount = Principal + S.I 

   = 1075 + 526.75 = 1601.75 

Amount paid by Ramya to her friend = Rs 1601.75 

 

37. A man borrows Rs. 12,500 at 20% compound interest. At the end of every year he pays 

Rs. 2000 as part of repayment. How much total amount does he still owe after three such 

installments? 

 (a) 15000 

 (b) 14320 

 (c) 16234 

 (d) 13245 

 

Solution: B 

 

Principal  Amount, P = Rs. 12,500 

Rate of interes, r = 20% compounded per annum. 

Total Amount at the rate of compound interest = P[1+ (r/100)]n 

Where P = Principal Amount; r= rate of interest; n= Time period 

Amount after first year = 12500*(120/100) = Rs. 15,000 

Principal for second year = 15000 – 2000 = Rs. 13,000 

Amount after second year = 13000*(120/100) = Rs. 15,600 

Principal for third year = 15600 – 2000 = Rs. 13,600 

Amount after third year = 13600*(120/100) = Rs. 16,320 

Remaining amount = 16320 – 2000 = Rs. 14,320. 

 

http://www.insightsonindia.com/


INSTA 75 Days REVISION PLAN for Prelims 2020 - InstaTests 

www.insightsonindia.com  22 Insights IAS 

38. The difference between the simple interest received from two different source on 

Rs.1500 for 3 years is Rs.13.50. What is the difference between their rates of interest? 

 (a) 0.2 % 

 (b) 0.4 % 

 (c) 0.3% 

 (d) 0.5% 

 

Solution: C 

 

Let the rate of interest for two different sources is r1 and r2 respectively. 

((1500×r1×3)/100) − ((1500×r2×3)/100) = 13.50 

   =4500r1−4500r2 =1350 

   = (r1−r2)           =1350/4500 

Hence required difference in rates = 0.3% 

 

39. The difference between compound interest and simple interest at the same rate on Rs 

5000 for 2 years is Rs 72. Find the rate of interest per annum? 

 (a) 10 

 (b) 14 

 (c) 15 

 (d) 12 

 

Solution: D 

 

Let the rate of interest per annum be r%. 

Then, 

Simple Interest = Rs ( 5000 * r * 2/100) = Rs 100r 

Compound Interest = Rs (5000 (1 +r/100)² -5000) 

        = 5000 ((1 +r/100)² – 1) 

        = Rs (r²/2 + 100r) 
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It is given that difference between compound interest and simple interest at the same rate on 

Rs 5000 for 2 years is Rs 72 

Therefore, (r²/2 + 100r) – 100r = Rs 72 

Thus,  r²/2 = 72 

Or r² = 144 or r= 12 percent per annum 

 

Directions for the following (one) item: 

Read the following passage and answer the item that follow. Your answer to this item should 

be based on the passage only. 

Passage - 7 

Health accessibility and affordability remain a crucial healthcare problem even in the 

21st century. Therefore World Health Organisation chose “Universal Health Coverage” as 

the theme for World Health Day 2019. India started working towards the universal problem of 

affordability and accessibility with the introduction of Ayushman Bharat. The scheme gave a 

family cover of Rs. 5 lac to socio-economically weaker section and roped it many private sector 

hospitals to deliver the services. Sadly, most of the roped in hospitals are situated in the urban 

localities and last mile accessibility remains a point of concern in the country with diverse 

cultures and topography. 

 

40. Which is the most critical and rational inference that can be made from the above 

passage? 

(a) Ayushman Bharat takes India closer to the goal of Universal health coverage 

(b) While the objective of Ayushman Bharat is laudable, there are glitches in the 

scheme that need correction 

(c) Health insurance for families is the way ahead if we want to achieve the aim of 

Universal Health coverage 

(d) None of the above 

 

Answer. B. 

 

The passage talks about the goal of universal health coverage and goes ahead and talks 

about the Ayushman Bharat Scheme which aims to take India closer to universal health 

coverage. The passage however goes on to mention the issues with Ayushman Bharat 

which highlight that for the objective of universal health coverage to be attained, we 

need to iron out the glitches in Ayushman Bharat and hence B is the most accurate option. 
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41. A certain sum lent out at simple interest amounts to Rs 575 in 3 yr and to Rs 625 in 5 yr. 

What is the rate of interest per annum? 

 (a) 4 % 

 (b) 5% 

 (c) 6 % 

 (d) 8% 

 

Solution: B 

 

Let the sum be Rs X 

Rate of interest = R% 

Simple Interest for 2 yr =Rs (625 – 575) = Rs 50 

Simple interest for one year = Rs 25 

Therefore, Simple interest for 3 years = 75 

If certain amount becomes Rs 575 after paying simple interest for three years, then Principal 

Amount = Rs 575- Rs75 = Rs 500 

SI = PTR/100 

75 = 500 * 3 * R/100 

Or R = 25 * 100/500 

Or R = 5 

 

42. A man finds that due to a fall in the rate of interest from 13% to 12.5 % his yearly income 

diminishes by Rs. 104. What is his principal amount? 

 (a) 21600 

 (b) 22000 

 (c) 20800 

 (d) 18000 

 

Solution: C 

 

Let Principal Amount = Rs . P 
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Simple interest paid at 13 % is SI1 

Simple interest paid at 12.5 % is SI2 

Then, SI1 – SI2 = Rs 104. 

=> (P x 13 x 1)/100 – (P x 25/2 x 1) /100 = 104 

13P/100 – P/8 = 104 

(26P -25P)/200 = 104 

Thus Principal amount=  P = Rs 20800 

∴ Capital = Rs. 20800 

 

43. What is the least number of complete years in which a sum of money put out at 20% 

compound interest will be more than doubled? 

 (a) 8 years 

 (b) 7 years 

 (c) 5 years 

 (d) 4 years 

 

Solution: D 

 

Let P be the Principal amount. 

T be Time period 

Compound interest = CI = (1 + R/100)^T 

Therefore, 

P x (1 + 20/100) T > 2P 

⇒ (6/5) T > 2 

Now, (6/5) x (6/5) x (6/5) x (6/5) > 2 

⇒ 1296/615 > 2 

Therefore, T =4 years 
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44. What will be the compound interest of Rs. 8000 at 10% per annum for 1.5 years. When 

compound interest is payable half yearly ? 

 (a) 9261 

 (b) 1124 

 (c) 1348 

 (d) 1261 

 

Solution: D 

 

Yearly interest = 10% 

Half yearly = 5% 

Therefore, Time 1.5 years = 3 Half yearly 

CI = (1+R/100) T 

Total Amount = 8000(1 + 5/100)3 

= 8000 x (21/20)3 

= 8000 x 21/20 x 21/20 x 21/20 

= Rs. 9261 

Therefore, total compound interest = Rs 9261 – Rs 8000 = Rs 1261 

 

Directions for the following (one) item: 

Read the following passage and answer the item that follow. Your answer to this item should 

be based on the passage only. 

Passage - 8 

The impact of environmental disasters is immense but unequal. Houses in poorer areas 

will often be less stable, storm barriers may be weaker, sanitation is often a problem, 

emergency services will be poorly resourced – and preventing disease outbreaks may be 

hindered by the poor state of public health services. 

 

45. Which among the following is the most logical and essential message conveyed by 

the above passage? 

(a) We need to change the current approach to disaster aid 

(b) Primary health management is critical in areas affected by natural disasters 
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(c) Poverty has a huge bearing on the impact of environmental disasters 

(d) None of the above 

 

Answer. C. 

 

The focus of the passage is on bringing out how disasters unevenly impact the rich and 

poor. Hence C is the correct answer. 

 

Number Series & Missing Numbers; English Comprehension 

 

46. Find the missing number (?) in the series 3, 7, 16, 35, ?, 153? 

 (a) 63 

 (b) 52 

 (c) 70 

 (d) 74 

 

Solution: D 

 

The pattern of the series is, 

3*2 + 1 = 7 

7*2 + 2 = 16 

16*2 + 3 = 35 

35*2 + 4 = 74 

74*2 + 5 = 153 

74 is the missing number. 

 

47. Find the missing number shown by ‘?’, in the series 10, 12.5, 17.5, ‘?’, 47.5 

 (a) 15 

 (b) 27.5 

 (c) 22.5 
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 (d) 25 

 

Solution: B 

 

The pattern is, 

10 * 2 – 7.5 = 12.5 

12.5 * 2 – 7.5 = 17.5 

17.5 * 2 – 7.5 = 27.5 

27.5 * 2 – 7.5 = 47.5 

Or 

you can observe difference is doubling in each case i.e 2.5 , 5, 10 and 20. 

Thus adding 10 to 17.5 will make the missing term as 27.5 

 

48. In the below given series, find the missing number ? 

175, 156, ’?’, 118 

 (a) 135 

 (b) 137 

 (c) 141 

 (d) 127 

 

Solution: B 

 

The given series is175, 156, ? ,118 

Consecutive numbers decreases by 19 

That holds true as difference between 2nd and 4th number is 38 (19 * 2) 

Following this pattern, the Missing Number should decrease by 19 from the previous number. 

When we subtract 19 from 156, we get missing number = 137 
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49. In the below given series, find the missing number shown by ‘?’ 

2 24 48 

3  9         27 

4        ‘?’     40 

 (a) 10 

 (b) 12 

 (c) 8 

 (d) 6 

 

Solution: A 

 

2 x 24 = 48 

3 x 9 = 27 

4 x 10 = 40 

 

Directions for the following (one) item: 

Read the following passage and answer the item that follow. Your answer to this item should 

be based on the passage only. 

Passage - 10 

As the planet warms, we need to be able to predict what populations will be at risk for 

infectious diseases because prevention is always superior to reaction. The researchers are now 

working on a map to pin point future changes in the distribution of vector-borne diseases. 

 

50. Which among the following is the most critical and rational inference that can be 

drawn from the above passage? 

(a) Climate change will increase risk of vector-borne diseases 

(b) With climate change, lifestyle diseases will no longer remain a threat 

(c) Prevention is always superior to reaction 

(d) The world remains ill-prepared for the health impacts that come with increasing 

temperatures and extreme weather events. 

 

Answer. A. 
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Options B and C are wrong because they are not the key focus of the passage. The passage 

tells us about the increasing risk of vector borne diseases as a result of climate change 

and the efforts undertaken by scientists to deal with such threat which doesn’t 

necessarily lead to the inference that the world is ill prepared, even though it might be 

the case. Hence A is correct. 
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